
 
 
 

                  – Scheda montaggio – 
– Aufbauanleitung - Way of  assembling – Feuille d’instruction assemblage – 

 
 

SQUARING  
(Accessori:Comodino / Panca / Pouf Grande-Piccolo) 
(Accessories:  Cabinet / Banquette /Large-Small Pouf) 

(Accessoires: Nachtkästchen / Bank / Hocker groß-klein 
(Accessoires: Meuble de chevet/Banc/Grand pouf/Petit pouf 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

        
 
 
 

 

Comodino 
Cabinet 
Nachtkästchen 
Meuble de chevet

Panca 
Banquette 
Bank 
Banc 

Pouf grande 
Large Pouf 
Großer Hocker 
Grand pouf 

Pouf Piccolo 
Small Pouf 
Kleiner Hocker 
Petit pouf 

A    Vite           M8x60            B    Chiave esagonale    C Rondella 24/8.5 sp 2 
       Screw          M8x60                       Allen Key              24/8.5, thickness 2,washer
       Schraube     M8x60                       Sechskantschlüssel          Scheibe 24/8,5 D. 2 
       Vis               M8x60                       Clé six pans               Rondelle 24/8,5 ép. 2 
 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

POSIZIONAMENTO PIEDINI 
POSITIONING OF THE FEET 
ANORDNUNG DER FÜSSE 
POSITIONNEMENT PIEDS 

 
PANCA – BANQUETTE - BANK - BANC  

 
 
 
 
 
 
                                 
 
 
  
 
       
         
   POUF GRANDE POUF PICCOLO  COMODINO 
   LARGE POUF  SMALL POUF CABINET  
   GROßER HOCKER KLEINER HOCKER NACHTKÄSTCHEN 
   GRAND POUF                                                    PETIT POUF                         MEUBLE DE CHEVET  
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

 

- Prendere  i piedini con una vite “A” e una
rondella fissare sul fondo dell’accessorio con la
chiave B (fig.1). 

      Vedi  disegni specifici per ogni accessorio. 
 
- Take the feet and, with a screw A and a

washer, attach them to the base of the
accessory using the key B (Fig. 1). 
See the specific drawings for each accessory. 
 

- Füße mit einer Schraube “A” und einer Scheibe
mit dem Schlüssel B (Abb.1) am Boden des
Möbels befestigen. 
Siehe spezielle Zeichnung für das jeweilige
Möbel. 
 

- Prendre les pieds et avec la clé B, les fixer avec
une vis “A” et une rondelle sur le fond de
l’accessoire  (fig. 1).  
Voir dessins spécifiques pour chaque
accessoire. 



ATTENZIONE:     - Maneggiare con mani pulite. 
- Non fissare del tutto le viti durante il montaggio; fissarle bene a montaggio finito. 

 
ATTENTION: - Handle with clean hands. 

- Do not tighten the screws completely during assembly; fix them properly at the end of assembling. 
 
ACHTUNG: - Mit sauberen Händen anfassen. 
  - Während des Aufbaus die Schrauben nicht festziehen, sondern erst am Ende der Montage. 
 
ATTENTION: - Manipuler avec les mains propres. 
 - Ne pas serrer à fond les vis lors de l'assemblage ; les serrer à fond à la fin du montage.  

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

  
 

 

  

Bonaldo Spa  
Via Straelle, 3 – P.O. Box n. 6 – 35010 Villanova Pd Italia  
Tel. +39 049 9299011  Fax +39 049 9299000  
 www.bonaldo.it - bonaldo@bonaldo.it  

Grazie per aver scelto uno dei prodotti BONALDO. 
 
Thank you for choosing a BONALDO product. 
 
Danke dass Sie ein BONALDO Produkt gewählt haben.
 
Merci d’avoir choisi un produit BONALDO. 


